IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

In re:

: Chapter 11
: Case No. 01-11490 (MFW)
INC., et al.,
: Jointly Administered
Debtors.
: Obj. Due: 8/25/03 at 4:00 p.m.

NOTICE OF SIXTH INTERIM AND FINAL FEE APPLICATION OF KPMG LLP AS ACCOUNTANTS TO THE DEBTORS FOR FINAL AND INTERIM COMPENSATION AND REIMBURSEMENT OF EXPENSES FOR THE PERIOD FROM FEBRUARY 1, 2003 TO JUNE 3, 2003

TO: ALL PARTIES ON THE ATTACHED SERVICE LIST

PLEASE TAKE NOTICE that on August 4, 2003,
KPMG LLP ("KPMG") filed the annexed Sixth Interim and
Final Fee Application of KPMG LLP as Accountants to the
Debtors for Final and Interim Compensation and Reimbursement of Expenses for the Period from February 1,
2003 to June 3, 2003 (the "Application").

PLEASE TAKE FURTHER NOTICE that objections, if any, to the Application must be made in writing, filed with the United States Bankruptcy Court for the District of Delaware (the "Bankruptcy Court"), 824 Market Street, Wilmington, Delaware 19801, and served so as to be received by the following parties no later than August 25,

2003 at 4:00 p.m. (Eastern time): (i) Hayes Lemmerz International, Inc., 15300 Centennial Drive, Northville, MI 48167, (Attn: Patrick C. Cauley, Esq.); (ii) Skadden, Arps, Slate, Meagher & Flom LLP, One Rodney Square, P.O. Box 636, Wilmington, Delaware 19899-0636 (Attn: Anthony W. Clark, Esq.), and Skadden, Arps, Slate, Meagher & Flom (Illinois), 333 West Wacker Drive, Chicago, Illinois 60606-1285 (Attn: J. Eric Ivester, Esq.), counsel to the Debtors; (iii) the United States Trustee, 844 King Street, Wilmington, DE 19801 (Attn: Joseph J. McMahon, Esq.); (iv) counsel for the Agent for the Debtors' prepetition Lenders and the Agent for the Debtors' postpetition debtor-in-possession Lenders, Clifford Chance Rogers & Wells LLP, 200 Park Avenue, New York, NY 10166-0153 (Attn: Margot B. Schonholtz) and Potter Anderson & Corroon LLP, Hercules Plaza, 1313 N. Market Street, P.O. Box 951, Wilmington, DE 19899-0951 (Attn: Laurie Selber Silverstein, Esq.); and (v) KPMG, 150 W. Jefferson Ave, Detroit, MI 48226 (Attn: Elizabeth W. Meter), (collectively, the "Notice Parties").

PLEASE TAKE FURTHER NOTICE that if no objections to the Application is timely filed and served in accordance with the above procedures, an order may be

entered granting the relief requested in the Application without further notice or a hearing. If an objection is properly filed and served in accordance with the above procedures, a hearing to consider the Application will be held on a date and time at the convenience of the Court before the Honorable Mary F. Walrath, United States Bankruptcy Court Judge for the District of Delaware, in the United States Bankruptcy Court, 824 North Market Street, Sixth Floor, Wilmington, Delaware 19801. Only those objections made in writing and timely filed with the Bankruptcy Court and received by the Notice Parties will be considered by the Bankruptcy Court at such hearing.

IF YOU FAIL TO RESPOND IN ACCORDANCE WITH THIS NOTICE, THE COURT MAY GRANT THE RELIEF DEMANDED BY THE APPLICATION WITHOUT FURTHER NOTICE OR HEARING.

Dated: Wilmington, Delaware

August 4, 2003

J. Eric Ivester
SKADDEN, ARPS, SLATE, MEAGHER
& FLOM (ILLINOIS)
333 West Wacker Drive
Chicago, Illinois 60606
(312) 407-0700

- and -

/s/ Michael W. Yurkewicz
Anthony W. Clark (No. 2051)
Michael W. Yurkewicz (No. 4165)
SKADDEN, ARPS, SLATE, MEAGHER
& FLOM LLP
One Rodney Square
P.O. Box 636
Wilmington, Delaware 19899
(302) 651-3000

Attorneys for Reorganized Debtors

IN THE UNITED STATES BANKRUPTCY COURT

FOR THE DISTRICT OF DELAWARE

IN RE:)
HAYES LEMMERZ INTERNATIONAL I Debtors	NC., et al.) CHAPTER 11) Case No.(01-11490-MFW) Jointly Administered
ACCOUNTANTS TO THE DEBTORS FO	EE APPLICATION OF KPMG LLP AS OR FINAL AND INTERIM COMPENSATION MENT OF EXPENSES
Name of Applicant:	KPMG LLP
Authorized to Provide Professional Services to:	Hayes Lemmerz International Inc., et al.
Date of Retention:	February 14, 2002
Period for which Compensation and Reimbursement is Sought:	February 1, 2003 – June 3, 2003
Amount of Compensation Sought as Actual, Reasonable, and Necessary:	\$ 1,924,909 (Sixth Interim and Final Period)
Less Amount Paid at Emergence based on Estimated Final Application	\$ 1,792,666 (Amount paid on June 3, 2003)
Net Amount of Compensation Sought as Actual, Reasonable, and Necessary:	<u>\$ 132,243</u>
Amount of Expense Reimbursement Sought as Actual, Reasonable, and Necessary:	\$ 37,638 (Sixth Interim and Final Period)
Amount of Compensation Sought for Final Fee Application Preparation:	<u>\$ 18,750</u>
This is an: X interim	X final application.
Total time expended for the preparation of	this application is approximately 75 hours and the v \$ 18.750.

Hayes Lemmerz International, Inc., et al. Summary of Previously Filed Fee Applications Local Form 101 (Fee Application Cover Sheet) Sixth Interim and Final Fee Application – February 1, 2003 through June 3, 2003

		Requested		Requested Approv		ved
Date Filed	Period Covered	Fees	Expenses	Fees	Expenses	
April 15, 2002	December 6, 2001 – February 28, 2002	\$1,203,527	\$9,426	\$1,203,527	\$9,426	
July 17, 2002	March 1, 2002 – May 31, 2002	\$1,218,074	\$19,407	\$1,218,074	\$19,407	
November 18, 2002	June 1, 2002 - August 31, 2002	\$301,210	\$1,612	\$301,210	\$1,612	
January 10, 2003	September 1, 2002 – November 30, 2003	\$348,110	\$2,626	\$348,110	\$2,626	
March 12, 2003	December 1, 2002 – January 31, 2003	\$631,703	\$5,578	\$631,703	\$5,578	
July 30, 2003	February 1, 2003 – June 3, 2003	\$1,924,909	\$37,638	\$	\$	

Hayes Lemmerz International, Inc., et al. Summary of KPMG LLP Professional Fees Local Form 102 (Fee Application/Attachment B) Sixth Interim and Final Fee Application – February 1, 2003 through June 3, 2003

Local Form 102 (Fee Application / Attachment B)

Name of Professional	Position of the	Hourly Billing Rate	Total Billed Hours	Total Compensation
Person	Applicant Number of			
	Years in that Position.			
	Prior Relevant		•	
	Experience. Year of			
	Obtaining License to			
	Practice. Area of			
	Expertise.			
Golub, Errol	Tax Partner	0.00	0.5	\$300
	Joined firm in 1999	\$600	- 0.3	Φ300
Conjura, Caroll	Tax Partner	0.00	3.0	\$1,800
	Joined firm in 1992	\$600	3.0	\$1,000
Harper, John	Tax Partner	0400	2.0	¢1 200
	Joined firm in 1992	\$600	2.0	\$1,200
Karpen, Patrick	Tax Partner	0.00	15.3	\$9,180
	Joined firm in 1976	\$600	13.3	\$9,100
Lawter, John	Tax Partner	1	11.5	የሩ 000
	Joined firm in 1995	\$600	11.5	\$6,900
Liquerman, Robert	Tax Partner		1	tran.
	Joined firm in 1995	\$600	1.0	\$600
Moresco, Scott	Tax Partner			#47.000
	Joined firm in 1997	\$600	75.0	\$45,000
Tejerina, Enrigue	Tax Partner			
	Joined firm in 1976	\$600	1.0	\$600
Turzewski, David	Tax Partner			216710
	Joined firm in 1989	\$600	27.9	\$16,740

Meter, Elizabeth	Assurance Partner Joined firm in 1982	\$555	381.8	\$211,899
Tricarichi, Anthony	Assurance Partner Joined firm in 1977	\$555	138.4	\$76,812
Coogan, James	Assurance Partner Joined firm in 1969	\$555	23.2	\$12,876
Farris, Franklin	Assurance Partner Joined firm in 1974	\$555	3.3	\$1,832
Kelsey, Lawrence	Assurance Partner Joined firm in 1990	\$555	0.5	\$278
Borin, Mark	Assurance Partner Joined firm in 1989	\$500	230.0	\$115,000
Burns, Randy	Tax Sr. Manager Joined firm in 1993	\$425	4.3	\$1,827
Field, Karen	Tax Sr. Manager Joined firm in 1995	\$425	1.0	\$425
Frankel, Jason	Tax Sr. Manager Joined firm in 2001	\$425	233.4	\$99,195
Heroux, Mark	Tax Sr. Manager Joined firm in 1999	\$425	1.8	\$765
Tansey, James	Tax Sr. Manager Joined firm in 1998	\$425	139.9	\$59,457
Wolf, Thomas	Tax Sr. Manager Joined Firm in 1995	\$425	36.8	\$15,640
Bramhall, Douglas	Tax Sr. Manager Joined firm in 1999	\$425	6.4	\$2,720
Deal, Michael	Tax Sr. Manager Joined firm in 1993	\$425	24.3	\$10,327
Halverson, Rex	Tax Sr. Manager Joined firm in 1998	\$425	3.8	\$1,615
Howell, Rick	Tax Sr. Manager Joined firm in 1999	\$425	6.5	\$2,762
Pitetti, Gianluca	Tax Sr. Manager Joined firm in 1998	\$425	63.5	\$26,987
Mark Price	Tax Sr. Manager Joined firm in 1995	\$425	0.5	\$212
Seelinger, Marc	Tax Sr. Manager Joined firm in 1990	\$425	4.0	\$1,700
Swanson, Marc	Tax Sr. Manager Joined firm in 1997	\$425	7.5	3,187
Thigpen, Bernita	Tax Sr. Manager Joined firm in 2000	\$425	61.2	26,010
Vogel, Jeffrey	Tax Sr. Manager Joined firm in 1999	\$425	1.4	\$595
Salinas, Martin	Assurance Sr. Manager Joined firm in 1994	\$400	43.0	\$17,200
Ward, James O	Assurance Sr. Manager Joined firm in 1995	\$400	103.9	\$41,560
Mays, Michelle	Assurance Sr. Manager Joined firm in 1993	\$400	10.7	\$4,280
O'Donnnell, Heather	Tax Manager Joined firm in 2001	\$400	4.0	\$1,600
Woll, Christopher	Tax Manager Joined firm in 1997	\$400	60.5	\$24,200

<u> </u>				
Oliver, Randy	Assurance Manager RAS	\$400	3.0	\$1,200
	Joined firm in 1999			
Ackerman, Dan	Assurance Manager Joined firm in 1996	\$388	55.1	\$21,379
Hravnak, Michalegne	Assurance Manager Joined firm in 1996	\$388	4.0	\$1,552
Shwartz, Sarit	Assurance Manager Joined firm in 1996	\$300	17.5	\$5,250
Sobczak, Ronald	Assurance Manager, Joined firm in 1996	\$388	318.6	\$123,617
Lawrie, Gretchen	Tax Sr. Manager Joined firm in 1999	\$350	221.5	\$77,525
Ishak, Miriam	Tax Sr. Associate Joined firm in 2001	\$275	51.5	\$14,163
Worlds, Rachel	Tax Sr. Associate Joined firm in 1999	\$275	2.5	\$688
Carroll, Lisa	Assurance Sr. Associate Joined firm in 2000	\$250	728.5	\$182,125
Parmigiani, Laura	Assurance Sr. Associate Joined firm in 2002	\$250	6.9	\$1,725
Caldwell, Eric	Assurance Sr. Associate Joined firm in 2000	\$250	64.0	\$16,000
Chandi, Pyara	Assurance Sr. Associate Joined firm in 2001	\$250	151.0	\$37,750
Chang, Linda	Assurance Sr. Associate Joined firm in 2002	\$250	48.5	\$12,125
Davis, Richard	Tax Sr. Associate Joined firm in 2001	\$250	40.5	\$10,125
Franklin, Sharon	Assurance Sr. Associate Joined firm in 2003	\$250	56.0	\$14,000
Howard, Venita	Assurance Sr. Associate Joined firm in 1999	\$250	123.7	\$30,925
Jain, Vinita	Assurance Sr. Associate Joined firm in 2002	\$250	250.0	\$62,500
Lee, Cory	Assurance Sr. Associate Joined firm in 2003	\$250	70.0	\$17,500
Lynch, Gareth	Assurance Sr. Associate Joined firm in 2003	\$250	239.0	\$59,750
Patranella, Christopher	Assurance Sr. Associate Joined firm in 2001	\$250	71.6	\$17,900
Troester, Jack	Assurance Sr. Associate Joined firm in 1999	\$250	127.9	\$31,975
Knauss, Melissa	Tax Associate Joined firm in 2002	\$225	61.6	\$13,860
Alanis, Ericka	Assurance Associate Joined firm in 2002	\$200	141.0	\$28,200

Baid, Manish	Assurance Associate RAS Joined firm in 2002	\$200	24.5	\$4,900
Wheelock, Tammy	Assurance Associate Joined firm in 2001	\$200	554.6	\$110,920
Becker, Staci	Assurance Associate Joined firm in 2002	\$175	58.0	\$10,150
Billops, Wanda	Assurance Associate Joined firm in 2002	\$200	46.5	\$9,300
Davis, Ashley	Assurance Associate Joined firm in 2003	\$175	66.0	11,550
Hanshaw, Charles	Assurance Associate Joined firm in 2002	\$175	154.1	\$26,968
Haroon, Michelle	Assurance Associate Joined firm in 2002	\$175	95.7	\$16,748
Ikari, Hiroko	Assurance Associate Joined firm in 2000	\$200	39.0	\$7,800
Johnson, Cynthia	Assurance Associate Joined firm in 2003	\$175	139.0	\$24,325
Johnson, Jill	Assurance Associate Joined firm in 2002	\$175	55.0	\$9,625
Karras, Elisa	Assurance Associate Joined firm in 2002	\$175	127.0	\$22,225
Ottemann, Arinn	Assurance Associate Joined firm in 2003	\$175	66.0	\$11,550
Schwartz, Lawrence	Assurance Associate Joined firm in 1999	\$175	48.0	\$8,400
Dougherty, Karen	Assurance Associate Joined firm in 2002	\$175	24.5	\$4,288
Ballard, Lacey	Assurance Intern Joined firm in 2002	\$150	26.0	\$3,900
Ferguson, Michael	Assurance Intern Joined firm in 2002	\$150	45.3	\$6,795
Tandon, Ankita	Assurance Intern Joined firm in 2003	\$150	69.0	\$10,350

Hayes Lemmerz International, Inc., et al. Summary of KPMG LLP Professional Fees Compensation by Project Category

Sixth Interim and Final Fee Application – February 1, 2003 through June 3, 2003

Project Code	Project Category	Total Hours	Total Fees
10532566	Tax Advisory Bankruptcy Project	823.8	\$346,641
10641673	Tax Consulting-Post July 2002	7.4	3,145
10743735	Annual Plant Audit – 2002	1,857.6	478,998
10747279	Annual Audit – 2002	2,447.6	680,356
10771371	State and Local Tax Consulting Project	264.7	99,960
10784258	Fresh Start Accounting Project	82.0	45,035
10844100	Employee Benefit Plan Audits	194.0	51,053
10859850	144A Filing Project	355.0	170,648
10859888	Quarterly Review procedures - 2003	192.8	49,073
Grand Total:		6,224.9	1,924,909

IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

IN RE:)
HAYES LEMMERZ INTERNATIONAL, INC., et al.	CHAPTER 11
Debtors.) Case No. (01-11490-MFW) Jointly Administered

TO: THE HONORABLE MARY F.WALRATH UNITED STATES BANKRUPTCY JUDGE UNITED STATES DISTRICT COURT

KPMG LLP's SIXTH INTERIM AND FINAL FEE APPLICATION AS ACCOUNTANTS AND FINANCIAL ADVISORS TO THE DEBTORS FOR FINAL AND INTERIM COMPENSATION & REIMBURSEMENT OF EXPENSES

Pursuant to 11 U.S.C. §§ 330 and 331 and Rule 2016 of the Rules of Bankruptcy Procedure, the firm of KPMG LLP ("KPMG") hereby moves this Honorable Court for an order awarding it (a) final allowance for reasonable compensation from the Estate of Hayes Lemmerz International, Inc., et al. (collectively, the "Debtors") for professional services rendered to the Debtors in the amount of \$1,924,909 for the period commencing February 1, 2003 through and including June 3, 2003 (the "Application Period"), together with reimbursement for actual and necessary expenses in the amount of \$37,638 incurred during the Application Period; and (b) final allowance of compensation for time spent in preparation of this Sixth and Final Fee Application in the amount of \$18,750. In support of its application ("Application"), KPMG respectfully represents as follows:

BACKGROUND AND CASE HISTORY

I.

On December 5, 2001 (the "Commencement Date"), each of the Debtors commenced a case under chapter 11 of title 11 of the United States Code (the "Bankruptcy Code"). The chapter 11 cases have been procedurally consolidated for administrative purposes. The Debtors continued to operate their business and manage their properties as Debtors in possession pursuant to sections 1107 (a) and 1108 of the Bankruptcy Code.

II.

At the commencement of these chapter 11 cases, KPMG LLP ("KPMG") was retained to provide accounting and financial advisory services to the Debtors in connection with the chapter 11 filings. As such, KPMG is uniquely familiar with the Debtors' business and financial affairs. The Debtors sought to employ KPMG having determined that KPMG was well suited to provide effective and economical assistance to Debtors in this chapter 11 case.

The collective efforts of KPMG working with Debtor management have resulted in significant benefits to the Debtors, including the following:

- A) KPMG provided audit and review services in conjunction with the restatement of the Debtors' financial statements for the year ended January 31, 2001 and quarter ended April 30, 2001. Working closely with management, we completed the restatements and helped the company to become timely with SEC filings.
- B) KPMG provided audit services through out the case completing the audit of the annual consolidated financial statements for the years ended January 31, 2002 and 2003.

- C) KPMG performed quarterly reviews of the consolidated financial statements through out the case completing reviews for the quarterly and year-to-date periods ended July 31, 2001, October 31, 2001, April 30, 2002, July 31, 2002, and October 31, 2002;
- D) KPMG provided audit services for the employee benefit plans including tests of the accounting records, inquiries of Company personnel, analytical procedures applied to the plans, reviews of audit workpapers by managers and partners, agreement of financial statements to audit workpapers, and drafting the Plan's financial statements as of and for the year ending December 31, 2002.
- E) KPMG performed analysis of accounting issues and advice to the Debtors' management regarding the proper accounting treatment of events;
- F) KPMG performed analysis and assistance with implementation of bankruptcy accounting procedures as required by the Bankruptcy Code and generally accepted accounting principles, including Statement of Position 90-7;
- G) Assistance in the preparation and filing of the Debtors' financial statements and disclosure documents required by the Securities and Exchange Commission;
- H) Assistance in the preparation and filing of their registration statements required by the SEC in relation to debt and equity offerings;
- KPMG provided professional services to the Debtors during review of Senior Notes Offering Memorandum and preparation and issuance of a comfort letter to the underwriters.
- J) KPMG provided assistance to the Debtor in developing a post emergence tax structure.

K) KPMG provided assistance to the Debtors by filing amended tax returns and assist the Debtor with receiving tax refunds.

III.

At the commencement of these chapter 11 cases, KPMG LLP ("KPMG") was retained to provide accounting and financial advisory services to the Debtors in connection with the chapter 11 filings. As such, KPMG is uniquely familiar with the Debtors' business and financial affairs. The Debtors sought to employ KPMG having determined that KPMG was well suited to provide effective and economical assistance to Debtors in this chapter 11 case.

IV.

Hayes Lemmerz International, Inc., et al., (the Company) designs, engineers and manufactures suspension module components, principally for original equipment manufacturers of passenger cars, light trucks, and commercial highway vehicles worldwide. The Company's products include one-piece cast aluminum wheels, fabricated aluminum wheels, fabricated steel wheels, full face cast aluminum wheels, clad covered wheels, wheel-end attachments, aluminum structural components, intake and exhaust manifolds, and brake drums, hubs and rotors.

The Debtors applied for a Court Order authorizing the retention of KPMG on December 5, 2001, and KPMG was approved to represent the Debtors by such Order dated February 14, 2002. KPMG was engaged to perform required accounting and financial advisory services on behalf of the Debtors as enumerated in the Affidavit of Elizabeth W. Meter dated December 3, 2001. As set forth therein, it was proposed that KPMG be retained as accountants and financial advisors to the Debtors with the scope of retention to include the following:

A. Accounting and Auditing Services

- a. Audit and review services in conjunction with the restatement of the Debtors' financial statements for the year ended January 31, 2001 and quarter ended April 30, 2001;
- b. Audit and review examinations of the financial statements of the Debtors as may be required from time to time;
- c. Analysis of accounting issues and advice to the Debtors' management regarding the proper accounting treatment of events;
- d. Assistance in the preparation and filing of the Debtors' financial statements and disclosure documents required by the Securities and Exchange Commission;
- e. Assistance in the preparation and filing of the Debtors' registration statements required by the SEC in relation to debt and equity offerings; and
- f. Performance of other accounting services for the Debtors as may be necessary or desirable.

B. Tax Advisory Services

- a. Review of and assistance in the preparation and filing of any tax returns;
- b. Advice and assistance to the Debtors regarding tax planning issues, including, assistance in estimating net operating loss carryforwards, international taxes, and state and local taxes;

- c. Assistance regarding transaction taxes, state and local sales and use taxes;
- d. Assistance regarding tax matters related to the Debtors' pension plans;
- e. Assistance regarding real and personal property tax matters, including, review of real and personal property tax records, negotiation of values with appraisal authorities, preparation and presentation of appeals to local taxing jurisdictions and assistance in litigation of property tax appeals;
- f. Assistance regarding any existing or future IRS, state and/or local tax examinations; and
- g. Other consulting, advice, research, planning or analysis regarding tax issues as may be requested.

C. Financial Advisory Services

- a. Assistance in the preparation and review of reports or filings as required by the Bankruptcy Court or the Office of the U.S. Trustee, including, schedules of assets and liabilities, statement of financial affairs, mailing matrix and monthly operating reports;
- b. Review of and assistance in the preparation of financial information for distribution to creditors and other parties-in-interest, including, analyses of cash receipts and disbursements, financial statement items and proposed transactions for which Bankruptcy Court approval is sought;
- Assistance with analysis, tracking and reporting regarding cash collateral and any DIP financing arrangements and budgets;
- d. Assistance with implementation of bankruptcy accounting procedures as required by the Bankruptcy Code and generally accepted accounting principles, including Statement of Position 90-7;
- e. Evaluation of potential employee retention and severance plans;
- f. Assistance with identifying and implementing potential

cost containment opportunities;

- g. Assistance with identifying and implementing asset redeployment opportunities;
- h. Analysis of assumption and rejection issues regarding executory contracts and leases;
- i. Assistance in preparing business plans and analyzing the business and financial condition of the Debtors;
- j. Assistance in evaluating reorganization strategy and alternatives available to the Debtors;
- k. Review and critique of the Debtors' financial projections and assumptions;
- Preparation of enterprise, asset and liquidation valuations;
- m. Assistance in preparing documents necessary for confirmation, including financial and other information contained in the plan of reorganization and disclosure statement;
- n. Advice and assistance to the Debtors in negotiations and meetings with bank lenders, creditors and any formal or informal committees;
- Advice and assistance on the tax consequences of proposed plans of reorganization, including assistance in the preparation of IRS ruling requests regarding the future tax consequences of alternative reorganization structures;
- p. Assistance with claims resolution procedures, including, analyses of creditors' claims by type and entity and maintenance of a claims database;
- q. Litigation consulting services and expert witness testimony regarding avoidance actions or other matters; and
- r. Other such functions as requested by the Debtors or their counsel to assist the Debtors in its business and reorganization.

KPMG was selected by the Debtors as accountants and financial advisors because of the firm's extensive experience with and knowledge of the Debtors' specific business and financial affairs and the firm's significant experience and expertise in the automotive supplier industry and in chapter 11 reorganizations. KPMG has been rendering accounting, auditing, and tax services to the Debtors since 1992. As a consequence, KPMG is extremely familiar with the Debtors' business and affairs and has the necessary background to assist the Debtors in dealing effectively with many of the needs and problems of the Debtors that may arise in the context of these chapter 11 cases.

VII.

Applicant makes this Sixth Application for interim and final compensation for professional services rendered and for reimbursement of actual and necessary costs and expenses incurred by applicant from February 1, 2003 through June 3, 2003.

VIII.

This Application seeks final payment of compensation to Applicant for all services rendered and expenses incurred during the case. An accounting of the dates such services were rendered, the time expended, the nature of the services rendered and the respective persons providing the services, is set forth in **Exhibit IV** and is incorporated herein by reference for all purposes. Exhibit IV includes only the time and expenses for which the Applicant had sufficient information as of the date of this Sixth Application regarding the time expended and the nature of the services performed during the Subject Period. In addition, Applicant has provided a summary description of the services performed by matter as set forth in **Exhibit III**.

In accordance with the application procedures established by this Court, each activity performed by Applicant has a separate time allotment and description, indicating the type of activity and the relevant subject matter of such activity. All professional fees are based on actual hours expended at the standard hourly rates as set forth in **Exhibit II**. In the normal course of business, KPMG LLP revises its hourly rates on October 1 of each year. For individuals who have rate changes, the hours subsequent to October 1, 2002 are reflected at the new rate. Ministerial tasks were performed by paraprofessional staff.

As accountants for the Debtors, Applicant has performed reorganization related and consulting services on behalf of the Debtors. Such services require the specific skills of the Applicant in the areas of accounting and the specific skills of the Applicant in chapter 11 cases.

SUMMARY OF SERVICES RENDERED BY APPLICANT IN SIXTH INTERIM AND FINAL APPLICATION PERIOD

Audit, Tax, and Accounting Related Services

X.

As accountants and financial advisors for the Debtors, Applicant has performed auditing and accounting services on behalf of the Debtors as authorized in KPMG's retention order. Such services require the specific skills of the Applicant in the areas of auditing, accounting and tax matters in chapter 11 cases.

XI.

During the Subject Period, KPMG rendered significant accounting, auditing, and tax services. Services rendered during the Subject Period include, but are not limited to, the following:

- 1. Performing audit procedures in connection with the audit of the Debtors' consolidated financial statements for the year ended January 31, 2003.
- 2. Performing quarterly review procedures as of and for the three-month periods ended April 30, 2003:
- 3. Providing other accounting and tax advisory services as requested by the Debtors or Debtors' counsel;
- 4. Performing procedures in connection with the audit of the Debtors' employee benefit plans as of and for the plan year ending December 31, 2002.
- 5. Performing tax advisory services as requested by the Debtor.

The Applicant expended a total of 6,224.9 hours of professional time in the performance of accounting, auditing, and financial advisory services rendered on behalf of the Debtors during the Subject Period. The Applicant values these services rendered to the Debtors at \$1,924,909. Such amount represents the Applicant's usual and customary charges for services of a similar nature performed for other clients of the firm and the rates charged are comparable to the rates being charged by professionals of similar reputation and status of the Applicant. Included in the Affidavit of Elizabeth W. Meter dated December 3, 2001 submitted on behalf of the Applicant was a \$17,000 retainer paid to the Applicant by the Debtors prior to December 5, 2001. The Applicant applied the retainer against outstanding pre-petition invoices totaling \$50,000, and the remaining \$33,000 of the outstanding pre-petition invoices was written off by the Applicant.

XIII.

Actual and Necessary Disbursements of KPMG

A schedule of the actual and necessary expenses incurred by KPMG in connection with its services to the Debtors is included as **Exhibit IV**. KPMG bills actual expenses incurred by its professionals in the performance of its services, including travel, lodging, meals, and incidentals. The expenses are reasonable and necessary expenses.

CONCLUSION

WHEREFORE, KPMG respectfully requests compensation of (a) interim and final allowance for reasonable compensation for professional services rendered and actual and necessary costs and expenses incurred of \$132,243 in fees (after consideration of the amount paid at emergence) for accounting, auditing, and financial advisory services and \$37,638 for expenses, for a total of \$169,881 for the period February 1, 2003 through June 3, 2003; and (b) final allowance of compensation for time spent in preparation of this Sixth and Final Fee application in the amount of \$18,750. Additionally, KPMG requests that it be granted any further relief as this Court may deem just and proper.

KPMG LLP

By:

Elizabeth W. Meter KPMG LLP 3150 West Jefferson, Suite 1200 Detroit, Michigan 48226 (313) 983-0410 Accountants and Financial Advisors for Hayes Lemmerz International, Inc., et al.